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10. y = px—2p2. Ans. primitive, y = Cx-2C2; singular solution, x2 = 8y.
11. y2p2 +3xp-y = 0. Ans. prim., y5+3Cx—C2 = 0; S.S., 9x’ + 43/5 = 0.
2
12. xp2—2yp+4x = 0. Ans. prim., C2x2—Cy+1 = 0; S.S., y2—4x = 0.
2 . 2 2 2 2
13. xp" -2yp+x+2y = 0. Ans. prim., 22" +2Cx-y)+C =0; S.8., x +2xy-y = 0.
2 2 . W2 2
14. @Ey-1)"p° = 4y. Ans. prim., x+C) = y(y-1); s.s., y =0; t.l., ¥y = 1/3;
n.l., y = 1.
y 2 . 2 2
15 y =-xp+xp. Ans. prim., xy = C+C'x; s.s., 1+4x°y = 0; t.l., x = 0.
2 . 3 2 2 3
16. 2y = p" + 4xp. Ans. prim., (4x" +3xy+C) = 2(2¢" +y) ; no s.s.;
c.l., 2x%2+y = 0.
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2 2 -
17. £%p% + xyp - 6y =0 Ans, (y-Cx2)(y—Cx Y=o

2
18. xp° + (y-l—x2)p -x(y~-1) =0 Ans. (2y- x2+C)(xy—x+C) =0
19. xp2 -2yp +4x =0 Ans, Cy = X+ C?
20. 3x“p2 -2xp -~y =0 Ans, xy = C(3Cx-1)

21. 8yp2—2xp+y=0 Ans, y2-Cx+2C2=0
22. y2p2+3px—y=0 Ans, yi-BCx—C"’:o
Aolo ) 55 sl ol gl dalaze (gla s =2
a) x+2y = C Ans, y-2x = K )y =x-1+Ce™” Ans.x=y—1+Ke-y
by xy =C x2—y2 = K g) y2 = 2x2(1—Cx) x2+3y21n(Ky)= 0
c)x2+2y2=C y:Kx2 hy p = a cos @ p=bsinf
dy y - Ce* y2 =x+K 1) p = a(l+sinf) p = b(1-sin )
e) y2 = xa/(C—x) (x2+y2)2=K(2x2+y2) J) p = a(sec @ +tan @) p = be~sm6
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